IMPERATIVE FORMATION FLOW CHART
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Start with the “OHW” form:
o0 (pabdétaTtb)=>pabdTaioT
0 (BXoAuTb)=>BXOAAT
0 (NpuroTéBmUTL)=>NPUrOTOBAT
0 (3andMHUTL)=>3anOMHAT

'

Remove “OHWN” ending (-yT/-t0T; -a1/-aT):
0 pa6dra-

BXOA-

O 0O

npurotos-
3andmH-

This form is the “stem” to
which you will add one of the 4

below.

'

Does remainder (“stem”) end in vowel?

Add( -1 ]

o Pa6doTan!
o Pa6déTanTe!

[STOP]

Check stress in “a” form:
O 4 BXOXY
0 s npuroTéBto
0 4 3andMHIo

=>Is “q” form end-stressed?

Add (-1

o Bxoaw!

Does stem end in cluster?

v

o BxogwnTe!
[STOP]

Add (“11);

o 3anomHu!
o 3anomHuTe!

[STOP]

(Y ES >< NO >

Add(-b]:

o [puroTtéss!
o [lpurotésbTe!
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[STOP]




